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The given table gives the percentage| Suppose the population of State A is 1 million,

distribution of population of five states A, B, C, | ¢ount the number of graduate females in State
D, E on the basis of Education and also on the &

basis of sex. Study the table and answer the . . o
question that follow. A TSI Sl TTHEEAT 10 &G | af A 5T |

forfor (Yo W 1 W 5 ) : T AfgeTTail st HEar & &2
ATfCTeRT ahT AT T T3 W9AT o ST SHfaU: (a) 2,15,000 (b) 2,25,000
frafafiga arferer ® rem a fom & smar w (¢) 2,30,000 (d) 2,20,000
A, B, C, D 3T E Uisr Tsai st SHEEAT @
ferawor wfergra fear =& g

Proportion of Males
and Females
UEET o Wigmed @
REIELIG
State/|Percentage of (10+2 (Graduate
s |Educated Populatmn/ category)/ |Category)/
Rrferd SEET & | gofy Tk
wferora gruft
A 60 S:6 -
B 50 55 §:2
C 35 53 4:3
D 45 6:5 4:2
E 41 4:3 3:2




The given table gives the percentage
distribution of population of five states A, B, C,
D, E on the basis of Education and also on the
basis of sex. Study the table and answer the
question that follow.

Suppose the population of State A is 1 million,
count the number of graduate females in State
A.

ATST il FIHEEET 10 TG A aF A 5T o

oot (W dET 1 9 5 9) TR AigAT3T it WEAT o7 82
ATfCTeRT ahT AT T T3 W9AT o ST SHfaU: (a) 2,15,000 (b) 2,25,000
fareafafiaa arferent & Brer o T & smam @ (c) 2,30,000 (d) 2,20,000

B, C. ) b ot i — : - —
gafm(;ﬁg:g,;a%f' T S W) : A T 3 e = 10,00,000 (7 3)
Proportion of Males A TSY H T I|%Ell3ﬁ 3l gE
and Females ) 3
gENl O uigemsti @ =10,00,000x60% x =
@HTIard 8
State/|Percentage of (10+2 (Graduate =10.00, OOOXﬂ xé
s |Educated Population/ |category)/ |Category)/ 100 8
orfard S=E@T | gofy e 3x3
yferora groft =1,00,000 x —
A 60 S:6 5:3 4
B 50 5:5 522 =25000x9
& 35 53 4:3 = 225000
D 45 6:5 4:2
E 41 4:3 3:2




The given table gives the percentage

distribution of population of five states A, B, C, If the male population in the 10 + 2 category is
D, E on the basis of Education and also on the 2 million in State B, then the total population of
basis of sex. Study the table and answer the .
question that follow. State B is . .

fordfor (womr WA 1 | 5 A - | afg TS BH 10 + 2 9107 &l U&E FHEEAT 20
ATfeTeRT ahT 3TETA &t T3 Y9l o 39T Sifeu: m%,ﬁWBaﬁme £

frraferfiga arferest & Pram a féw & smamw uv
A, B, C, D 3T E uier =t &l SHEEAT 6T

feravur gferora fear = #) . -
Pronortion of Maies| (3) 8 million/8 T (b) 6 million/6 fAfera
qodt o weerat a| (¢) 7 million/7 e (d) 9 million/9 ffera
HHTTUTT
State/|Percentage of (10+2 (Graduate
s |Educated Populatmn/ category)/ [Category)/
Prfera SEET & grofy =aah
gferoTa gruft
A 60 5:6 5:3 Easy Notes 4u
B 50 5:5 5:2 Online Study
C 35 ~ K 4:3
D 45 6:5 4:2 e TN
E 41 4:3 3:2 ) Semmemmmmmae




The iven table ives the ercentage
Aistriution oF populatﬁm o five tates A, B, %:, If the male population in the 10 + 2 category is
D, E on the basis of Education and also on the 2 million in State B, then the total population of
basis of sex. Study the table and answer the . ’
question that follow. State B is . .
fordfor (womr WA 1 | 5 A - afg TS BH 10 + 2 9107 &l U&E FHEEAT 20
ATfeTeRT AT TeTa= & = g9l o ST difeu: ar ot :
: GIRE s hel STHEET I
forferfiaga anferent § foram @ foim & smam o € - &
A, B, C, D 3R E uier Tl &t SHEEAT 6l
Prevur ftrerer R & _ |Ans. (a) : 91, B U9 & $d J°9€N =x 2|
P N M l " ’ s .
a,‘,’g'}?:,‘,:‘;{‘es“ e [zafer, w7 B H 10+2 o1 3§ qEST F wE
gEEl o Wigemsi v
W X x50% X% = 2000000
State/|Percentage of (10+2 (Graduate 50 S
s |Educated Population/ [category)/ |Category)/ X X —— % — = 2000000
Prfera SEET & grofy =aah
A 60 5:6 5:3 X X 5 X 5 = 2000000
B 50 5:5 5:2
C 35 5:3 4:3 X 2000000
D 45 6:5 4:2 4
E 41 4:3 3:2 x = 80,00,000 or 8 fafera=




The given table gives the percentage What will be the difference between the male

distribution of population of five states A, B, C, . .
D, E on the basis of Education and also on the population in the (10 + 2) category and the

basis of sex. Study the table and answer the male pop“h‘t.io“ in the Grafluate.ca.tegory if the
question that follow. total population of State C is 4 million.
forfor (Wv= WA 1 W 5 9F) afe T C &t A FTAEEAT 40 @@ g, 4 (10

et efovar 3 fiver = 0 : ;??ME’&WWWWM*
a ST T . . . 9
A, B, C, D 3T E Uier Tl el SHEEAT oAl | faRa siav g

et wfereTa faa T £ (a) 73,000 (b) 70,000
Proportion of Males () 75,000 (d) 74,000
and Females
gEEl o Wigemsd
HHTIATT

State/|Percentage of (10+2 (Graduate
< |Educated Populatmn/ category)/ |Category)/
Frfera SEET & goft Haeh
gferoTa gruft
A 60 5:6 5:3
B 50 5:5 8:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2




The given table gives the percentage What will be the difference between the male

distribution of population of five states A, B, C, . .
D, E on the basis of Education and also on the population in the (10 + 2) category and the

basis of sex. Study the table and answer the male pop“h‘t.io“ in the Grafluate.ca.tegory if the
question that follow. total population of State C is 4 million.
forfor (Wv= WA 1 W 5 9F) afe T C &t A FTAEEAT 40 @@ g, 4 (10

et efovar 3 fiver = 0 : ;??ME’&WWWWM*
a ST T . . . 9
A, B, C, D 3T E Uier Tl el SHEEAT oAl | faRa siav g

feraor wferora fa=r T 1 (a) 73,000 (b) 70,000
Proportion of Males (c) 75,000 (d) 74,000
and Females — : — :

3 " Ans. (¢) : fe= é
ENl T AR H| | a3 por s — 4 fREREE (40,000.000)
HHTIUTA TS C H 10+2 goft § gesi a1 g
State/|Percentage of (10+2 (Graduate — 40.00.000x 2> x>
s (Educated Population/ |category)/ |Category)/ 100 8
Frfera SEET & goft =Tah — 40, OOOX%
aﬂﬁ =5,000<175
) : = 8.75.000
A 60 ~ 1 5:3 ot Jof & P
B 50 5:5 52 335 p
C 35 5:3 4:3 = 40,000,005 =< —
D 45 6:5 4:2 = 40,000=<5=4
= 8.00,000
£ ol 4:3 3:2 37d: 3 37 = 8,75,000 — 8,00,000
= 75,000




The given table gives the percentage
distribution of population of five states A, B, C,
D, E on the basis of Education and also on the
basis of sex. Study the table and answer the
question that follow.

fodor (UoT @==T 1 W 5 9) ¢
ATfeTeRT AT 3T &Y T w9l o 39 difwu:
fr=afefiaa arferen o Bram @ fém & emeaw uw
A, B, C, D 3T E Uier Trsal ol SEEEAT &l

Which state will have the highest number oi:
female population (in the Graduate category),
if the population of each state is 1 million?

i ek ST Hl FHEEAT 10 &g g o
e vt o few o @t wigen S=EE
waiferes g

(a) A (b) B

(c) C (d) D

feravor wfagra fEar = g
Proportion of Males
and Females
gEul F Wigemsdi o
HHTIATT
State/|Percentage of (10+2 (Graduate
s |Educated Populatmn/ category)/ |Category)/
orfara sHEET 6 | groft e
wfaoTa gruft
A 60 5:6 5:3
B 50 5:5 §:2
& 35 - LK 4:3
D 45 6:5 4:2
E 41 4:3 3:2
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The given table gives the percentage
distribution of population of five states A, B, C,
D, E on the basis of Education and also on the

basis of sex. Study the
question that follow.

oo (wo= d=aT 1 W 5 9@) ¢

table and answer the

ATfeTeRT AT 3T &Y T w9l o 39 difwu:
freferfaa arferent ® Brem @ fém & smam w

A, B, C, D 3T E ui=r

T[T hl TTEEAT T

feravor wfagra fEar = g

Which state will have the highest number oi:
female population (in the Graduate category),
if the population of each state is 1 million?

i ek ST Hl FHEEAT 10 &g g o
e Uit o foRw T @t Afgen S=EE
waiferes g

(a) A (b) B

(c) C (d) D

Proportion of Males
and Females

Ans. (a) : {31 2, 9&8% Tsa & S=E=T = 10,00,000
ras 9ot § afgan sHEE & g9
60 3

TS A¥H = 10,00,000x —x==2.25,000
100 8
: 50 2
TSI BH = IO,OO,OOOXﬁx;=1,42,857.142

T CH = 10.00.000x -2 x> = 1.50.000
100 <7

S DH = ]0,00,000x£xz=l,50,000
100 6

3d:, A gAF ST & SHEET 10 g 2 dl Sdsd
guft ¥ TT A ° wfgen sHdE gatys 2|

gEEl o Wigensd ol
HHTIATT
State/|Percentage of (10+2 (Graduate
s |Educated Population/ |[category)/ [Category)/
orfara SEET & | goft =
wfaora gruft
A 60 5:6 5:3
B 50 5:5 §:2
& 35 - LK 4:3
D 45 6:5 4:2
E 41 4:3 3:2




Find out the total number of females in the
Graduate category in State D (Total population
is 2 million) and State E (Total population is 1

The given table gives the percentage
distribution of population of five states A, B, C,
D, E on the basis of Education and also on the

basis of sex. Study the table and answer the million) .
question that follow. T D (TS TAEEAT 20 &G ) 3 =T E
forder (yoa G 1 9 5 T) (e FEEEAT 10 @@ g) H Wiask Auft o

ATfTaRT AT TETA T T W91 & SO SiTaT: afgemsil @ wer G @ §?
frfeafiaa arferanr o foram @ fem & smam @ ¥
; . : (a) 4,50,564 (b) 4,20,890
A, B, C, D 3T E Uiar T=al &l SEEAT &0 (©) 4.64.000 (d) 4.50.660
feramor wferora fear T 8 s - — .

Proportion of Males
and Females
UENl @ Afgemsn @
HHTIT
State/|Percentage of (10+2 (Graduate
s |Educated Populatlon/ category)/ |Category)/
Rrfera s=EET @ goft Hideh
gferord gruft
A 60 S:6 55
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 32




The givem fahle pives fhe pecemtage Find out the total number of females in the
distribution of population of five states A, B, C, ,Gr;duf;lt.e categ((i)rgtmt Sgt?l,Dt(TOtal plo]t).ulat.mlll
D, E on the basis of Education and also on the is 2 million) an ate E (Total population is
basis of sex. Study the table and answer the million) .
question that follow. T D (TS TAEEAT 20 &G ) 3 =T E
i (U= W= 1 | 5 9 - | (HeT WEIEEAT 10 @G §) W Eaes Soft o
ATFeTeRT T 3TETTF &Y F WOl o I Sif: afgemsil @ wer G @ §?
A'i"“B";"C'@“D“ m"NE‘ ‘;a'b'&" a.‘: & 3 ol (@ 450,564 (b) 4,20,890
,» B, C, el TS (¢) 4,64,000 (d) 4,50,660
ferawor wfergra faar T & ——= . — .
Proportion of Males|| Ans. (c) : f&a1 2, T D F1 Fa S5 = 20,00,000
and .Fea';‘alef - 3R TSF E 1 Fel S=E@A = 10,00,000
mgii' 37d: TsA D H Afgenn @ids & @&
s 45 2
State/|Percentage of (10+2 (Graduate = 20,00, OOOxﬁxE
s |Educated Population/ |category)/|Category)/ — 3.00.000
Ibllala TAEEAT T Idch s .
aProre sruft Sroft U9 E ¥ #Afgen Sas & g 7
A 60 5:6 5:3 ~ 10,00, OOOX%XE
B 50 o §:2 — 1.64.000 .
¢ 35 2ia L 37d: 3E AN = 3,00,000+1,64,000
D 45 6:5 4:2 — 4.64.000
E 41 4:3 3:2 s




How many channels are there in the Swayam
Prabha bouquet?

@AY T 3 e ém?fr %7 },UW
(a) 23
(c) 43 / d)

— V=
34
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How many channels are there in the Swayam
Prabha bouquet?

WHPAT T W feha o9eT 82

(a) 23 (b) 32
(©) 43

Ans. (b, d) : @IYI [T HEEA {IH5H 3 50 GE@A
Vi dell &1 TR @1 @ e #| 24x7 e
3o TUE Ve esH & $y34 94d §l 39
FAFT_F_F]yd < § wff fefda @ watm

TUrEEETel At Yo Suc AT )




Which among the the following is an incorrect é \ )\/
action verb for comprehension level?

UiF W & foau fafafaa o 9 & o o
T fehar g7

(a) Convert/9Rad=

(b) Applaud/S9mEr

(c) Paraphrase/9drdlq
(d) Summarize/SerdiHTuT




Which among the the following is an incorrect
action verb for comprehension level?

oA |Y o fog faafafiaa 7 9 == | /e
HTAa gk fshar 82

(a) Convervadfigda

(b) Applaud/S9ET

(¢) Paraphrase/{9191d4dT<
(d) Summarize/IaTdHI0T

Ans. (b) : qﬁﬁw%mﬁmﬁﬁﬁmmv

— gfigda v — Jg HET (A V
— faer / — gEid (JEae)
— I/ — 3ihadd

— gE=fET S/ — sfasgant v
:ﬁﬁma\/ — FARAT vV




Statement I: Classroom assessment of learning,
particularly bevond the early elementary
grades has been based almost exclusively on
paper and pencil tests, which indicate, rather
han measure, what children have learned.

o - 1 : Tfavigesy 21mifuass _grerftes o=t <6
31T azﬁ:lﬂ'cra-?ra-?arrm SITETeRIST 2T
VWO | SRt AT SheTH OireIrT a¥ SATemiRa ¥ S
UeTaT O W WIS o T 9T Teha =RIaT © fee
et X o= JaT 2

Statement [II: Authentic tests do not ask
learners to display their skills and behaviours %

in the way they will be displaved outside the
classroom in the real world.

JEHEET - 11 - graTiotas aftaar § Pranfiart | smaa
THRITTE 3T == Rl ST gahiT g9 3T o6
g =&F =waT IEaT § 9T 9 SHaIr O S rEy o6t
aratass gf =T O sk
In light of the above statements, choose the

most appropriate answer from the options
given below

IgI=h ShAAl o 3TTetas |, = fag fassear o

T TET T /T ST SBitAa:
(a) Both Statement I and Statement Il are correct

HaT 1 1T 11 =41 TO&7 & Easy Notes 4u
(b) Both Statement I and Statement II are Online Study

incorrect /&2 [ 31T 11 <41 iTad &

Statement 1 1s correct but Statement 11 1is
incorrect/H== 1 9&T 2, foog === 11 7Tera 2

(d) Statement 1 1s 1ncqrrect but Statement II 1s
correct/sha= I 7Tad &, fob=d sho= 11 9&T @




Statement I: Classroom assessment of learning,
particularly beyond the early elementary
grades has been based almost exclusively on
paper and pencil tests, which indicate, rather
than measure, what children have learned.

waT - [ : faggesy mifiass wrafues oSt o6
STAT 3TRATH SRt Hall 3TMhel 3TETERIIT 3T
BV T hATSH I hoTd GHEAT UT MRS § T
Ueael WU I AT oh T U Hohd ohidl & foh
==t 3 =T JiEr 2

Statement II: Authentic tests do not ask
learners to display their skills and behaviours

in the way they will be displayed outside the
classroom in the real world.

wHAT - 11 : UTHTOTE aitar | Pranfaay O s maa
HIVTA 31T AT ohT 3T UahT U9 it o
fog =& whET S TaT ¥ HET O el W gl ot
arfass gi=ear & s

In light of the above statements, choose the

most appropriate answer from the options
given below

IUITh heAl ok 3TTelles |, Jrer fau faeseat &

| TEr 3T T AT SRS

(a) Both Statement I and Statement Il are correct
HT [ AR 11 =T T &

(b) Both Statement I and Statement II are
incorrect /&Y= [ 3 11 a1 T4 @
Statement I 1s correct but Statement II 1is
incorrect/&9 1 ¥ 2, fohed o= 11 7T g

(d) Statement I i1s incorrect but Statement Il is
correct/&94 | Tad 2, fohg 9= 11 9¢1 2

Ans. (¢) : -1 T | 39k 3l ¢ T HI9 § aedi
% _qcdied 3 S (oY &t quin mer g, o st
St Fe & M SR B FEE SAEH F R
e GO TSI B 8

mm-llwéaﬁﬁamﬁﬁmﬁmm

\/mmmﬁmmw




Direct instruction strategies are_indispensable 0\
for achieving content mastery, and over

learning facts, rules and action sequences.
Identify the correct sequence for the direct
instructional sequence for learning mastery.

fawgasg # uridtaar i Tzt Aot a @
STt o 3TfEres i =t writa & f&a
aﬁ'ﬁl’Q:
\/(. Monitor and diagnose progress/g3Tiel =t
o o A=
B. Teach/ re-teach/3T&Ea1a/9: 37&ATaA

. Provide feedback/afaai® s»¥AT

\V. Present new content
a0 faes ag g ga &aAr
. Practice/37<=19d

Choose the correct answer from the options
given below

Hrer fou 7o fawmcar 7 O @E 39T T =a9Aq
aflférq:

(a) B_E,A,C.D .
(c) A,D.E,C.B \/ (d) C,




Direct instruction strategies are indispensable
for achieving content mastery, and over
learning facts, rules and action sequences.
Identify the correct sequence for the direct
instructional sequence for learning mastery.

/

" griataar A e fHamt a et
sgEeTedl ok offtres it @t urfta o fog
aﬁ'ﬁl’Q:

A. Monitor and diagnose progress/SiTia aht
=i a1 A=

B. Teach/ re-teach/3T&a1aA/9: 3T&ATaOA

C. Provide feedback/gfaraf® =wyAT

D. Present new content
o faua aa g ga &aAar

E. Practice/37%¥=TmH

Choose the correct answer from the options
given below

Hrer fou 7o fawmcar 7 O @E 39T T =a9Aq

A (¢ : fowaaeq ® wim o qedt fr @ @
sfactet & it s & wfa & foe s e
Tl e § R S 3 S Sew e
T T W -

yfd & fTREr 9 e — 79 favaas SeE & o
I — FAYE HA — HEAG/J: A |




Match List I with List 11

gt 1 &t gt 11§ gafea s
List I/4=H 1 List TI/A=T 11
A. Classical conditioning | 1. Albert Bandura/
FATHRA ket amé g
B. Operant conditioning NI. Ivan Pavlov/
feRaTuga 3T e el RICEIC]
C. Social !earning/fheo III. Lev Vygotsky/
qmTtSes Aftrm fagia EIRHIGIE=)
D. Constructivism/ V. B.F. Skinner/
BAEEIEIE dtuw. ey
Choose the correct answer from the options
given below:
Hrer fau v faereut ® o wEt 3w g
(a) A-LLB-1IILC-II,D-1V Easy Notes 4u
(b) A-IIILB-IILC-1V,D-1 Online Study *
) A-1ILB-1V,C-1,D-1II i

(d A-IV,B-1LC-1II,D-1I




Ee | [

List I/=h 1 List 11/a=H 11 - | Tl 11
A. Classical conditioning | 1. Albert Bandura/ A. TR W - (11). dH LICEIC
il i il i B. framd aged - (IV). .05, fiam
B. Operant conditioning ;la."qlvan Pavlov/ C-m i Rz - 0. gt W
C. Social learning theory | IIl. Lev Vygotsky/ D. §TdTdT& - (). éa amm

qmaToes e fagia | o araaiies

D. Constructivism/ IV. B.F. Skinner/
HieaTae &, R

Choose the correct answer from the options
given below:

(a) A-LB-IILC-II,D-1V
(by A-IIILB-II,C-1V,D-1
(c) A-II,B-1V,C-1,D-1II
(d) A-1IV,B-1,C-1II,D-1I




The values which explain how closely the
variables are related to each one of the factors
discovered are known as

I Tl few WU W T e § J A We
& § {6 o0 @ T YR & W e
foyarean @ wafir 87

(a) Factor-loadings/®R el \/

f) Yate's correction/3d &I TUMEH

(b
(c) Deliberate samplmg/ﬁ%&'ﬂ Yiraa
(d) Kruskal-Wallis test /Fhcl-aferd GEeqor

0 S WMDe 2xﬂ—\




The values which explain how closely the
variables are related to each one of the factors
discovered are known as

39 el ol fohl ®U H T STaT § S 98 WY
& ¢ for = @IS U yAw &R § feRaHt
ferear o wefia g2

(a) Factor-loadings/®Reh <&l

(b) Yate's correction/Id T HIMEA

(c) Deliberate sampling /ARy Sfdaaq
(d) Kruskal-Wallis test /FH&hci-arfctd GLieqoT

[Ans. (a): 37 9 @1 R o & &9 A a0 2
ﬁwmﬁ%ﬁﬁﬂ@@lﬂummmmﬁm
el @ WAl §1 a1 feM q@ &9 § | IR &1
& {0 Ggday TE 21 FE e 39 foum @R W
o g 1 T fee e 21 v




The process which involves the construction of 2>
an artificial environment within which relevant \
information and data can be generated is called

as

UH HiIW TRAYT & AT I arelt ishar &t
T el AT g e ey @a geEr i
TR gl i ST hi AT Teh?
(a) Inferential approach /Z&i&dl 3T
(b) Experimental approach /ST SURTH

. . ﬁ,\a"‘
(c) Simulation approach /&Y 3TH _~ /Z—
(d) Qualitative approach /T[0Tl 3UNTH
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The process which involves the construction of
an artificial environment within which relevant
information and data can be generated is called

as
TH AT gRAYT st TAT A aTeit Uishar &l
=T ehel wrar g e ofiar 9a g==r =W
SRSl il Iaaf ol ST Tk ?

(a) Inferential approach /EETEdT IUNTH

(b) Experimental approach /ST&ifies 3UrH

(¢c) Simulation approach /3AGEY9dl 39T7TH

(d) Qualitative approach /7[UTIcHsh 3UNTH

Ans. (c) : SFTETH UM TH FHW GREw # T
ael Sk 2, e i 9 e Sk sigel @
i & ST 21 F% Faha gReafddl § s qumelt (A
34 37 YUIcll) & et HaER & 3Hacii i HAfd
& &1 39 I § | ghw awan/a e i 2




Given below are two statements

Statement I: Only phenomena and hence
knowledge confirmed by the senses cannot
enuinely be warranted as knowledge.

- 1 : g~ g gfe &t 8 uﬁmnﬁ 3
3T: F=_hl YraTUTE w0 | oty 7 T A B
AT TeHaT Bl
Statement II: Science must (and presumabl

can) be conducted in a way that is value free.
HA - 1 :fas= &t arfarda: (4R gurera: )
Ted gk adteh | Hanferd ferar ST =feu)

In light of the above statements, choose the
correct answer from the (gtlons given below

For fau faweat o
ﬂuﬁwwmaﬁﬁq

(a) Both Statement I and Statement Il are correct

F9= [ 3 11 a1 981 &

(b) Both Statement I and Statement II are
incorrect / &9 [ 3R 11 a1 Tad @

(c) Statement I 1is correct but Statement II is
incorrect /&9 [ T&l 2 ﬁ;ﬂ F99 11 7Tad 2

) Statement | 1s mcorrect but Statement Il 1s
correct/Ha | TTeid @, fheq ®9 11 &1 2

\’B




Given below are two statements
Statement I: Only phenomena and hence Ans. (d) : m &l Ef@' Gil TF-’(: PICCEG 3 3N 3T
knowledge confirmed by the senses cannot ﬁ Wﬁm &7 ﬁ a;[ﬁ:l-E 9 T T Gl é I FI 1

genumely be warranted as knowledge.

FaT - | - gﬁgﬁmg&aﬁ@uﬁmﬁaﬂr @élwmﬂﬁﬂﬁaﬁﬁ ﬁ(mﬂaﬁ: ) Je Tth

e R S LI (4) 9 AT

Statement Il: Science must (and presumably
can) be conducted in a way that is value free.

- 11 :fasm= &t arfrarda: (3T darera: )
qw Th aitch | Genferd feRam ST =fgu
In light of the above statements, choose the
correct answer from the (gtlons given below

Fror fou faemeat o
q uﬂ I & T Hifw:
(a) Both Statement I and Statement Il are correct
H9 [ 3 11 a4 T &

(b) Both Statement 1 and Statement II are
incorrect / 9= 1 3R 11 SHT TAd @

(c) Statement 1 1s correct but Statement Il 1s
incorrect /&9 | Hi?f ﬁ:ﬁ $dd 1 Tdd %

(d) Statement I 1s incorrect but Statement Il 1s
correct/&d | Tad 2, foheg a1 W&l 2




Which among the following assist a researche@
as data collection tools?

frafafga @ @ @9 ¥ s ynaneff & fow
AThS Uehd hid ATl WL & WU H TgTaeh & 2
A. Google Form/TTeT WhTH v

B. Survey Monkey/®& Waht/ )

C. Microsoft Forms/ATZshaToE
D. NVivo/u= dtar

E. Blender/aigt

Choose the correct answer from the options
given below:

=ﬁ€r fau o faweat & O WE I @ W9A
Shif:

(a) A,BandCanly/aTcﬁr A,BaﬁIC \/

(b) B, C and D only/&a@ B, C 3R D

(¢) C, D and E only/&aa C, D 3R E

(d) B, D and E only/&ad B, D 3R E




Which among the following assist a researcher
as data collection tools?

frafeafges @ @ @m 9 & ynuneff & fow
TS Uehdd T ATl UIELH o B9 | g 82
A. Google Form/TTeT rd

B. Survey Monkey/®d Heht

C. Microsoft Forms/ATgshIATeE GIe

D. NVivo/u= dar

E. Blender/&igt

Choose the correct answer from the options
given below:

Hrer fau o fawedt § ¥ WE I @ wEA
TS

(a) A,BandConly/aTcIH A,BaﬂI C

(b) B, C and D only/&d@ B, C 3R D

(¢) C, D and E only/&a@@ C, D 3R E

(d) B,DandEonly/aﬁﬁ B,Dsﬂ'{ E

Ans. (a) : T SEgFGd & BIALNEHE Eﬁa 3N
fedias &Iq g/ Midhel & TGI8V H §hdl 2| fod MU
fomeqt § § fafafad v wedf & fau siee we
F A G & &9 § TES ¢-
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Match List I with List 11

=it 1 st 9= 11 & gafera st

List /3=t 1 List II/Z= 11
A. Empiricism|(l. An approach to the
IFHAATS relationship between theory and

research in which the latter is
conducted with reference to
hypotheses and ideas inferred

from the former./fRTgia o 9mer
& s o dE o Ufad SUnTH
ad fagia | fafaa ureeme
o fa=md o d@aof ° vmer femar
ST 21

Q. Indicator/

b

Il. General approach to the
study of reality that suggests
that only knowledge gained
through experience and the

o 3L ok Ufd WH SUNTH
ST HWohd owiar & v Shaer
FFua o Al & weIw W

arfsta AT & wiewrd 81

senses is acceptable./@rafaehdr|

\s

. Deduction/

ICEIE ]

III. A form of reasoning with
strong ties to induction that
grounds social scientific
accounts of the social world in
the perspectives and meanings
of participants in these social
worlds. ol Tah w®U 1

gada & Woedt ¥ JeT & W
TraTtees  gfar & wraTieTen
ATk T@rei hi gfgss o
3w 39  watse o
aIfiE ok 31ef et Sr=arT 81

D. Abduction/
AqITAA

IV. A measure that is employed
to refer to a concept when no
direct measure is available./Udh)

et HehoadAT St AT Hahd oA
hT SUTT S ohig UoAel 3uT
SUeTeRT 1 &l

Choose the correct answer from the options

given below:

=t fau 7o faeweat @ O Ot = g

(ayA-1IILB-1I,C-1V,D-1
A-IILB-1V,C-1,D-1III

(c) A-ILB-III,C-II,D -1V

(d) A-1V,B-1,C-1II, D-1II




Ans. (b) :

gt 11

[I. ardfdshar & 3939 & 9fd 9=
JUNTH S Hehd AT @ foh dhad F9a d
zfeeadi & ey 4 st 3 & wed 2

V. U Ul Gheqdr $ 3T Hohd HH H

3T FE FHE TIY 39 3UAH F 2|

| fogia @ Wiy & d9 & da9 & ¥
surm forad fagid @ fnfia geeed g

ferari & ded o iy faan Sir 21

11, GhA1 1 % &9 S o § goEd 4

g1 & S g & g
éﬁﬁﬁﬁ@aﬁ@ H 3R 3
qmrﬁmgﬁmﬁwﬂarﬁ%aﬁaﬁaﬁm

2




Diagonal communication is @ V
fereguff wryreor
(a) Latent I3 ¢
(b) Aggresive /3TThMh ;

)
(¢) Cross- funchonal)ﬂ@fﬁﬁ-%
(d) Non functional /T Yo 3




The means of non-verbal communication are : @
T-ynfeger HUEUT & AU B

A. Spoken language/STeTITeT aht WTHT
B. Time language/JHI ATHT

C. Sign language/‘ﬁa’ﬁ 1T

D. Space language/¥aTq (Fﬁ‘!il') arET
E. Written language/feTRaa e

Choose the correct answer from the options
given below:

Hior fau 7o faweat @ ¥ WE W @1 wEA
aﬁ'ﬁﬁq:

(a) A, Band C only/&ad A, B 3R C

. Easy Notes 4
(b) B,Cand D onlyf%ﬁc"'r B.C3RD / g:};n:sﬁdyu '

(c) D, C and E only/&ad D, C 3K E
(d) A, D and E only/&a@d A, D 3R E




The means of non-verbal communication are :
T-ynifeger WY & WA §:

A. Spoken language/@TeTeITer ST WTaT

B. Time language/9Hd {THT

C. Sign Ianguage/ﬁ'a’z? HTET

D. Space language/TaT= (V) WTHT

E. Written language/feTRae «msm

Choose the correct answer from the options
given below:

Frer fou U fawedt # ¥ W I @ WA
CAlE L

(2) A, B and C only/dad A, B 3R C

(b) B,CandDonly/%’»ﬁ'(;f B,C3=ﬁ“( D

(¢) D, C and E only/&a@ D, C 3R E

(d) A, DandEonly/aTciﬁA D3R E

Ans. (b) :(TR_¥Ifeed yawimw, qHNV H UH FER @

WWWWWMWéaWWW
alell S_alel Y3l o 399N & faT 370 wraansii faramd
3R gEIst F aqenr 31 e T fawedt § ¥ W-nfs
T & Y 2-

= HHT 9]

= Tahd AT

— T (V) 9T




Given below are two statements %
=t =r sha= fag g 2:

Statement I: The semiotics of Charles Pierce
cannot be called a Theory of Communication.

\7(2:':1 - I : =ITed faa oF Sohda Ta3TT ohf SUSUT
=T Tagia 21 shar =T 9ahdar 21
Statement 11: Charles Pierce prepar s \/
of concepts with a common basis of{ expression |

and @arration.

HAaAT - - faoad 3 sfasat~s o 3=
o THTT AT ol Schoddr2dl il Ush WO T
qJITT SR

In light of the above statements, choose the

most appropriate answer from the options

given below

IaUTH haAT oh 3TTetas |, o fau fassear &

T TOEr SET el ST Shifsu:

(a) Both Statement I and Statement Il are correct
Hoa= [ 3 11 a4 98 &

(b) Both Statement I and Statement II are
incorrect/sh=a=T 1 371X 11 ST Tad &

(c) ptatement I 1s correct but Statement II 1s
incorrect/sH== | T&l 8, foqg &o= 11 Toa @

) Statement 1 i1s 1ncorrect but Statement II is

correct/=Hha= | 719 2, fohg === 11 9T 2




Given below are two statements
Hr=r 21 swa= fau 1o §:

Statement I: The semiotics of Charles Pierce
cannot be called a Theory of Communication.

wHaT - 1 : ATed fUad oh Hehd fasiTT Rl @ywuT
T Tagia & war =i Oahar 21
Statement II: Charles Pierce prepared a system

of concepts with a common basis of expression
and narration.

AT - 11 : ST faad 3 rfasatss o 3 s
o THTA M il HhoddT3il il Ueh WU
qJTTT H

In light of the above statements, choose the
most appropriate answer from the options
given below

IUATH Ul o 3TeATah o, = fau fawmear o
T WEl 39T T 99T @it

(a) Both Statement I and Statement Il are correct

FHaa [ 31 11 41 98 &

(b) Both Statement I and Statement II are
incorrect/&Ha 1 371 11 41 Teid &

(c) Statement I 1s correct but Statement II 1s
incorrect/&9= 1 981 2, foh=q = 11 Tera 2

(d) Statement I 1s incorrect but Statement II 1s
correct/Ha 1 7TeAd 2, fohg o= 11 9t 2

/
AK. (d) : Tcd e & T fagm & w1 g
T AT ¢ S G Td GRS ¢l daed A o
fagM W 1860 & <9 # forae W& fan o, 37 Fo-
| 39 2 a0 F9-11, ‘o fad 3 et g
W& & G99 YR 31 GHeqs @ T Joel daR
" 9 ¢ Tl fose (d) 39 I @




The correct sequence of communication
contexts is: @

TYEUT ST o1 WET ST &
A. Temporal/3TerEt V/

B. Physical/‘lﬂﬁlﬁjs/

C. Social/mmTy® v/

D. Cultural/Ahfees v

E. Psychological A=Atk

Choose the correct answer from the options
given below

o fou T foeweai W W WE IV @ WO
HifoT:

(a) B.D,C,E,A}  (b) C,E,D,A,B
(¢) D,A,B,E, (d) A,C,B,D.E

Easy Notes 4u
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The correct sequence- of \communication) [Ans. (a): G ’Wm faer 3111 e & e
context;;:ﬂ . ¢ gﬁmglﬁqﬂﬁﬁﬂﬁﬁwmm
HYWUT T T TE AT ¢ 5 feTa g-
A. Temporal/3reaat @ !
B. Physical/sitferes it —
C. Social/ATHTRS V4
: AT
D. Cultural/ e S
E. Psychological/A-Ta7T=e,
Choose the correct answer from the options
given below L
Hrer fou T fawewt § ¥ WE I @ wed
ITT;

(a) B,D,C,E, A (b) C,E,D,A,B
(c) D,A,B,E,C (d) A,C,B,D,E




Match List I with List Il

=t 1 &t it 11 9 gafaa atfeg:

List 11I/3T=iT 1 List 1= 11
Example/3ST&X0T Communication/S9guT
groft
A. Rehearsing the|l. Group
messages to send tojcommunication /HHg
others. a-ﬁ aﬁﬁm p—
& fou wHIon @t

gatars N\

B. Writing a letter to
friend/fa=

SECEL

I. Intrapersonal
communication/37—:

aafreh

C. Talking to a m
of S to 10 persons/5S el

10 ==wwAT it 219
AT hiAT

IIl. Mass
communication /9

E*E> 1L

D. Message from ‘one

source to many
anonymous receivers./

U SRal3Tl ahl 29T

lN:terpersonal‘
communjcation/37dY
aafwees —

Choose the correct answer from the options
given below:

ﬂ%ﬁqwﬁm’rﬁﬁuﬁwgﬁq
(a) A-1V,B-1,C-1II,D-1II
(b) A-I,B-IL,C-III,D-1V
\(,L))A-II,B-IV,C-I,D-III

(d) A-TILB-1V,C-ILD-I




Ans. (lc) :

et | et 11
I v&mﬁvﬁ 1/
A. U H 994 & forw Geu H|IL 3: dafhs
qaiery
B. g & v forgan [V, 3iR Jaftha
C.5 ¥ 10 aAfhA H IW ¥ |l T8 0T
T
D.U& d ¥ 3&EF FFE|IIL 59 H8R
YIdHaI3t Hl <9




What number comes next in the following ()

sequence?

formaferfige e o anelt W @ gnit?
1,2.25,6.25, 16, ?

(a) 26.25 (b) 36

(c) 32.5 (d) 38.25

Easy Notes 4u
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What number comes next in the following
sequence?

frafafaa s o rTet e o= grft?
1,2.25, 6.25, 16, ? .
(a) 26.25 [b) 36 \
(c) 32.5 (d) 38.25

Ans. (b) : 31 T2 vt farad 2-

] —2.25—>6.25——>16——>|36

R
12)—(1.52_ (25— (4 —(6?)

(DG D @

05 4 +1 \/ S +\2/




. How old is Ravi if in 8 years time he will be @ PUS-
twice as old as he was twenty years ago? j ol Vike
afz 8 o vgw T & g Iwa 20 ad wd =
@1 Y @ g o @ AT g, q s Iwat
g ferert 87
(a) 56 (b) 48
(c) 28 (d) 26




: WHow old”is Ravlimi_f in 8 y;ars time he will be.
twice as old as he was twenty years ago?

afg 8 ¥ ugrd e @i g I 20 I gd
&t TG ot g § gt AT i, a‘rmm&‘i‘
3y fehat &7

(a) 56 (b) 48

(c) 28 (d) 26

\ns. (b) : ¥, 9 3 adom M@Eaﬁ 2|

RAIFHIN- J
X+ 8=2(x-20)
_x;& =2x-40
§ +40=2x - x

48 = x

.'.x=?48 CL | )




Given below are two statements

Hr=r 2t = fou o §: '))

Statement I: In one minute, the minute hand of

a clock moves 5°.
HAT - l:quhmﬁaﬁa—ﬁfﬁvmvﬁ;ﬁ‘soz
=TT gl

Statement II: In one minute, the hour hand of a
clock moves 1°.

&I - 11 : Uk fa=e # ot &t ue areft 93 1°
5o 1 1 1 o I -

In light of the above statements, choose the
correct answer from the options given below

IUTh AT oh ATelah |, Ao fau faeeat o

H TEl IO &1 9T HiTHAT:

(a) Both Statement I and Statement Il are correct
F9= [ 3R 11 a1 981 8

(W Both Statement 1 and Statement II are
incorrect / a9 1 31X 11 ST 7Tad @

(c) Statement I is correct but Statement II is
incorrect /&%= 1 W&l 2, foheq H9= 11 o @

(d) Statement I is incorrect but Statement II is
correct/HIF 1 Tad 2, foheq &= 11 91 2
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Given below are two statements
Hrer g e fou o &

Statement I: In one minute, the minute hand of
a clock moves 5

HAF - | : Uah e o udt &t fime areft
a?—ﬁﬁ%l K 11?.

Statement II: In one minute, the hour hand of a
clock moves 1°.

x-ﬁ:lzwmﬁm&ﬁa’%m

In light of the above statements, choose the
correct answer from the options given below

I HUAT & ATelre |, e fou faweat #
¥ W ST &1 TTF FITAT:

(a) Both Statement I and Statement II are correct

Fo9 [ 3R 11 2 981 &

(b) Both Statement I and Statement II are
incorrect / H4F 1 3R 11 41 Toid @

(c) Statement I 1s correct but Statement II 1s
incorrect /&% | T&l 2, feheq e 11 Terd 3

(d) Statement I is mcorrect but Statement II 1s
correct/Ha | Teid &, fohed 9 11 T8 &

Ans. (b) : &I l@,
s 1 92T = 360° V
. 60 fa9e = 360°
ﬁm 360
60°
aem- 114,

df | ave & gue & gg 5 e % s gt
Ha: 1 "0 = 5x6° = 30°

SRRk E sl T
mqmﬁwﬁw@aﬁgﬁqmﬁ 6(:;=£°

3d: FAA-1 3 FI-11 Tad 2|

Vv’




An inference when based on a middle term
which is only positively related to the major
term and the knowledge of Vyapti between the
middle and major terms is arrived at only

through the agreement in presence is known as

A & UH ¢ W e g ¢ e
¥ Al ST WU | Hafd g o 9 8
AT WA & o AR & A hael I
A IuFtfe & MEW W ET, Hgeral g)/
\ (a) Kevala'nvayi /daamadt
- (b) Kevala-vyatireki /hdcl &
(c) Anvaya vyatireki /39 AR
(d) Sheshvat /91




An inference when based on a middle term Ans, (a) : y:lqﬁ d @ %}l T 3 aﬁ] % Gﬁ qieg
which is only positively related to the major ﬂ \ ﬁ i 3ﬂT a;
term and the knowledge of Vyapti between the K Wﬂm Wﬁlﬁ E\T v %@ o

middle and major terms is arrived at only o A T 90 T3 e Tt & AR W a

through the agreement in presence is known as

S A 3 W onA A A W ma | A g ¢
B AW S B9 W HaE g o 7@ 8

A0 WA & a9 @ & T daw T AT
T SUFRAfe & ATE W 1, Shgert N \’Jf/v

(3) Kevala nvayi /&aead o M

(b) Kevala-vyatireki /e aﬁﬁ?? }’/

(c) Anvaya vyatireki /39 @

( w—}

d) Sheshvat AvE  — ©



When the middle term is related to a minof @

term that stands not for any definite individual
or class of individuals, but indefinitely for all
objects is known as

W@ W 3 T 00 0y @ Hefd @ o foh

fafira s o st @t 9ult &1 TE ae

ity w0 0 wedt e o foo g, ot s

T FE T 87

(a) Sadharana Savyabhichara /STYRUT FoAfiER
' (b) Asadharana Savyabhichara/3TET8RYT FoAfiaR

\/(c) Anupasamhari Savyabhichara T
TR HAAR Easy Notes 4
_ gz};neoéﬁdyu S
(d) Viruddha /f%g




Which of the following is NOT a necessary
condition for a sentence to be meaningful?

fordt arer & W@ g9 & forg fferfia o
T @ U Atvard o T 87

a) Akanksha /3T (b) Yogyataﬂfﬂ'ﬂﬁT

¢) Shakti /96 ./ (d) Sannidhi /fafy




Which of the following is NOT a necessary
condition for a sentence to be meaningful?

fordt araar & s g & oo fafafaa o
| T Uk Afard v Tg &7

(a) Akanksha /37T (b) Yogyata /A

() Shakti /¥Ifh (d) Sannidhi /gfafy

‘Mns (c) : mm@ﬁ%ﬁaﬁwmaﬂw

& = 21 fR A % 9rde @ & foe A1 Us gay
?ﬁnmﬁﬁmﬁff@alwmﬁﬂmmaﬁaﬁé.
TRV

A/ \\WXD ,

gt //3\‘}

T/

: a1 o didehdr & fore wifth us e o A& 2




The word 'Pen' may denote either an
instrument for writing or an enclosure for

animals. Such a case may be understood as a
fallacy of

U IR U TG IUGHTUT AT TYI3T & are
o T 7 W1 § U Wl ahl fefanad §
¥ WTHT ST I T ST TUGAT 1 el 87

(a) Accent /ST
|(b) Equivocation /FIﬁ“JHTJ V

(c) Amphiboly /3THade

Easy Notes 4u

(d) Composition /84 | oniine stuay £




~ The word 'Pen’ may denote either an
instrument for writing or an enclosure for
animals. Such a case may be understood as a
fallacy of

T I e T U T G &
@ O g1 Wehdl ¢ U WIWe ahl fwAfertia i
T T T A | W WG T Hhell ¢/

(a) Accent /<aTHd

b) Equivocation /SfeTe
¢) Amphiboly /3Tt
d) Composition /H2

(
(
(

A

:

3P & 0 1 8 o

7 {0 1, W & 8 90 @ o @
77 0 11 9 e 1 20 O 2
feckulekidhedz g bkl

. b): T Y% 06 68 00 0 O &




What is the MAC address? ')ﬁD
e 31Sd oI &7

\/a) A unique number that identifies a device
connected to the internet /222 ° S I &l

UBE A arell Ush 3= T
(b) A unique frame number required for error

control /Af¢ fEA0T & faw 3mavas & 3
A AT

(¢) A unique number required for a port
41 & fou smavas o 3T e

(d) A unique address of a website

U d9913e FH 37 Idl

-~ - - 1




What is the MAC address? | Ans, (a): ﬁ% ﬂ?ﬂ 3'{@3 1}( 51@ ikl \ELG m G|
¥, TG N ¢ R 0 41 8 @ e i 7

(a), A unique number that identifies a device SN
\/ contected to the intemet 22 T {130 3 o 3@“ i 71 9 ¢ wﬂ

AR & a0 0 5 Tl 3 3 W VG & B ¥ 48 fie o 7 2
(b) A umique frame number required for error \G
control % AT & o 1awad @ 53

S G
(c) A unique number required for a port
W & ot 1aves & 3 e

(d) A unique address of a website

TS JaWEe F 3 T



What is parity checking ?

U &t 5 (TR =it ) o 87

(a) A method used to check that data has reached
the destination /48 Frad & fafyr f& e
T % TEd T g

\)Jvf{ A method to check whether data has been

changed or is corrupted /38 g+ @ fafr i
1 T URafdd a1 G (L) 3 &

(c) A method to check that number is even or 0dd
7R S @) faf f dem a9 3 fawm)

(d) A method to check that data 1s in serial or
parallel order /48 e+ @1 fafr foF grer goft
9 U 2 4 g s )

Easy Notes 4u
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What is parity checking ?

T St Wi (R =t ) @ g7

(a) A method used to check that data has reached
the destination /48 Wred @ fafy f& erer
oA T & T ¢

(b) A method to check whether data has been
changed or is corrupted /%8 a3 fafyr
1 2T WA o g (FE) g 2|

(c) A method to check that number 1s even or odd

T 9 3 fafey fs g v @ famm

(d) A method to check that data 1s i serial or
parallel order /48 e & faft f& grer gl

%9 U 2 7 g Y A

Ans. (b) : T & 1 % W & faly g
5 Wl 7 oG g g1 W A A
e & e s i & fow ot v 6 9
m@m#ﬁﬂaﬁmwmwmém
R 3t 3 2 VA o 2- 1) W W0 & 9 & 1)
e v 1 gl




Which statement is NOT true for QR (Qulck
Response) codes? ~—

HF-T1 &Y g 9N (foas wig) @i &
fore vl e &7 v’

(a) There 1s no need for the user to write down or

key-in a website address /3TATERdl () H
dawrge UgH forgd 3 238 ‘@ 7 F A
¢ AT T 2|
(b) QR codes can store website addresses /& 3R
Jag1Ee USH H WAE T X T ¢ |
(¢y QR codes cannot hold digits /
T AR HIS 3T Dl TR0 T¢I B T ¢

(d) QR codes can be scanned anywhere

T AR HE F Fel ff WA AT 1 Wb 2

@)




Which statement is NOT true for QR (Quick ﬁs () : QR &I Ui &Y ¢ e AL R CRG )

WV

Response) codes? T AT AR w o T 21 %}
SH-T FUA ] AN (e W) B & | |F7l wwe fawd & g9 4 @ @ G- Ao
fore wer T 87 gt 31 feifefias F99 QR & fo w8 &-

(a) There 1s no need for the user to write down or — JTATHA H dEEE Q@H fogd @t 1 39 -3
key-in a website address /WA () & ||g & EvIET W 3|
99EE UgH ot A AW B TR ||, R A 9 @ F W T R T 3

g STV T 2| = QR & % o @ i o e 2
(b) QR codes can store website addresses /¥ 3R

g dawge USH & G T R WA 4
(¢) QR codes cannot hold digits

] IR S 3 3 U0 T R T 8
(d) QR codes can be scanned anywhere

T 9 A F a0 S B o T




Which statement is NOT true for Universal @
Serial Bus? /

r-ar wo gfade e aw & @)

§%5- ~— VN
t 1s a synchronous serial data transmission
method/F8 HHHGH  HiHd (HiFA) ST

Heur fafyr 2
(b) It s a four-wired shielded cable

T8 IR drl arell 9fEfed e 21

(¢) Devices plugged into the computer are

automatically detected /FFF2T | @ fT T
fearedi & @a: T o S 2

(d) Several different data transmission rates are Easy Notes 4u

SUPPOI’th /a.,‘g ﬁﬁ:ﬁ[ | WT E‘ﬁ a_ﬁ qchzt Online Study
& 2




Which statement is NOT true for Universal
Serial Bus?

WIF-TT HYA Hade dige a9 & fog 9=
EFAR Y
(a) It 1s a synchronous serial data transmission

method/d@ T HFHGIA  HfFk (TRIA) BT

e fafer 21 JA T T A v e 2
(b) It s a four-wired shielded cable f ' : :
g AR AT A U A § o> T i i e fearew @1 . v o

/

Ans. (a) : adq dfiwa 79 @ 7 ¢ fwa svm
7 i § 8 o 9 3
e 4 forw o 7 €1 FaAfeha e g it
T 4 firt 7

., 7 fofirt 2fer o <@ &t 90¢ & 2

(c) Devices plugged into the computer are

automatically detected /FFF2T | @ fT T
fearedl &1 e Gl o I 2
(d) Several different data transmission rates are

supported /&% faf¥d ST WUl < &1 WU
T 2




Which one of the following 15@ Sensor @ @ J

device?

HIA-T1 T& W feargd T8 7
(a) Burglar alarm system /AR-5¢1 fien

(b) Control of street lighting y
e & afe & g

(c) Antilock breaking systems on cars \/ X"
e § 5 & ford air T yomeh

(d) Mlcrophone [mﬁf m ‘/ I _ E;sy N\otes 4u
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Which one of the following is NOT a sensor
device?

SHIT-9T Ueh @Y fearsa I8 872
(a) Burglar alarm system /9-921 fG&=a

(b) Control of street lighting
g ohi afaal w1 AT

(c) Antilock breaking systems on cars

mfesar # s o faa &t Tt yoTredt
(d) Microphone /ATSeh/ATSshi®hIA

Ans. (*) : (AAE=NTA = 39 59 & edid- ¥ &L W)
U T T USH FHR H TR ¢ forge wm uatawr 9
S IS FH_Udl_ a1 IR SfafRar 9 38y 3d
T 21 &l T famedt # 4 oot Fax U 2




).

According to Noise Pollution (Regulation and
Control) Rules, 2000, the night time noise
standard for commercial areas in India is

eat gguur (fafvemm s fesm) fram 2000
% ION 9NG W anuned e o for
Tfrertteres ot W §:

(a) 65 dB b) 55dB

(c) S0dB (d) 45dB

@)




)

According to Noise Pollution (Regulation and
Control) Rules, 2000, the night time noise
standard for commercial areas in India is

at yeu (fafaw o fm) w2000
% Y W W ames & & fo
mfm:ahm%:

(a) 65 dB (b) 55 dB

(c) 0B (d) 45.dB

CpIERE

Ans. (b) : a1 g (fafem o ) foem 2000

& o o # faft e & fore oo o fo &
i A W R -
o T EhW fR@am

wfer v d0dbY  S0dh

A &

aiffsae, & 55ch 65d3\/

45db v/ SSdJ/

10db 75db

V4




The second highest concentration in biogas 1

that of

T o gt s W fa g 87
(a) Hydrogen sulfide/FREH THEE
b) Sulphur dioxide/HeH SEHFEE

)
¢) Methane/fida OV
d) \Carbon dioxide/T swaﬁamsg)/

(
(
(
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The second highest concentration i biogas 1s
that of

G 2 i o g
(a) Hydrogen Bk

) Sulphur doxide ¥ RS
o) Methane/fe

\

(0) Carbon dioxide R ERHFTRE

Ans. () : T T TG W 4 AT 93
(@@ 0 ) WG T, 06 a A e @

A § T s
T F 5

e e e (%)
e O Con ) 505

F 2 ARl (0, 2550
T ) N, 0-10_
| bl
¥/ HyS, 0yetc. 03




Given below are two statements, one is labelled
as Assertion A and the other is labelled as
Reason R

Hr=r =r =saa fog 1g § uss 21T (Assertion LS
A) ok VO H AT EIT STch R1IIUT (Reason R) 6

=
Assertion A : Natural disasters exacerbate

poverty in developing countries.
ITHTT (A) : UTghiaes TTaord fassragsier 29
o IrdEt a2t _Sdr 8
Reason R : Developing countries lack national

disaster risk strategies aligned to Sendai
Framework.

In light of the above statements, choose the
correct answer from the options given below

[OITTh SheaAl &6 ATelrtsk o, Hi=r foag fasear o

o T9Er S9¥ =Rt 9T Shitsa:

(a) Both A and R are true and R 1s the correct
explanation of A /(A) 31T (R) AT O & 301X
(R) ST T ==13=4T 2|

(b) Both A and R are true but R 1s NOT the
correct explanation of A/(A) 33T (R) 4T I
' O (R). (A) BT T&T ==saT1 9&1 2 |
A 1s true but R 1s false
(A) I3 2 93 (R) 379 2|

(d) A s false but R is true
(A) 39T @ 93 (R) 9 21
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Given below are two statements, one is labelled
as Assertion A and the other is labelled as
Reason R

Hir=r Sr g f@u 1o € uss TR (Assertion
A) °h T | AT gEIT 3Tk hIL0T (Reason R) oh
wa H:

Assertion A : Natural disasters exacerbate
poverty in developing countries.

IMTHAT (A) : UTehiaes ImaaSd faesrasfier 29
o IS 92T 24T )
Reason R : Developing countries lack national

disaster risk strategies aligned to Sendai
Framework.

HAaT (R) : famrasfier Iom & A=z haasks |
e = e muar gy et st 3T
BT 2

In light of the above statements, choose the
correct answer from the options given below

IUUTh =l oh 3TTelteh °, =t fag faswear &

T Tl 39T T =199 s

(a) Both A and R are true and R is the correct
explanation of A /(A) 3 (R) ST G & 31T
(R) &1 T&1 ==r=Ar 21

(b) Both A and R are true but R 1s NOT the
correct explanation of A/(A) 31X (R) &I 9T
g 954 (R), (A) I & =AAT &1 2|

(c) A is true but R 1s false
(A) T 2 9% (R) 3ATH 21

(d) A is false but R 1s true
(A) 379 @ 9% (R) 9 21

4s.(c):‘mm’aﬁréaa‘fﬁw§mmm
fograyia qw 3R fomfia 3w & fawme sfiga wesi
% FT o 3R WO 1 0 THAH 2 2|

F T ¢ Fih Y HHad GqH TP & I avi
N G T U HAUH FEas @ 3R 77 it
3w # AN @ IR T G & i § e e |
TeE Al 2|




As part of the Intended Nationally Determined
Contributions, India's target of 33-35%
reduction in carbon emission intensity by the
year 2030 is sought to be achieved with
reference to

v W WY o fauifta ane= (32T

Aot feemmge wdieuyia) & dgd ad¥ 2030
Tk hTad IcaST il AT H 33-35% ohl i

T AR T e foraeh dad o yre & 87
(a) 1990 levels /1990 X
(b) 2005 levels /2005 & _~

(c) 2015 levels /2015 %X
(d) 2020 levels /2020 &Y




As part of the Intended Nationally Determined | [|Ans. (b) : WA W ® ity o o Wﬁﬁ 3

Contributions, India's target of 33-35% |l 9@ 9@ oW 2w F I N EEELR

reduction in carbon emission intensity by the | ‘oot T e 5 a0 A T T 8 | A
v

ear 2030 is sought to be achieved with )
ieference to g memwaﬁﬂﬂiﬁém: A

ot T @ w Fie dem @i | R 4 TA@IOM 7 W T 9
syrrelt feerie ddtevin) % wea ad 2030 | 2005 T Hd W A

T FET IEAT I W 33.35% @ wwr |V
T I o1 oo fowrah Hal o et T 7
(a) 1990 levels /1990 %W

) 2005 levels7Z005

(c) 2015 levels /2015 &R

(d) 2020 levels /2020 X

—

[ o




The UGC has mandated a six-month module
syllabus for UG courses for all branches of
higher education with the objective:

TS 3 S==a Pramwm &t @t smEtett o feg
gaTaeh ehid o iU Ush S8 ATg ok ATtsSgel
arSTsRA Rt Tfarayr faar § et s2vo &

A.

B.

B

E.

to implement CBCS in the true sense/dT &t
= s =Rt 9ET AT’ ANy SR

to enhance knowledge, skills and attitude
towards the environment

T, ShivTA AT gt ol SF=21ET)

to provide hirst-hand knowledge on various
local environmental aspects/fafas ==
gTiaIoii=r gait el et ATT UarT ShIdATl

to implement the order of Hon'ble Supreme
Court of India/9¥T oK

=TATAT oh ATSIT SRl AT ShIATI

to protect the environment

OITaIuT SRt HI270T SHIATI

Choose the correct answer from the options
given below :

Hirer fog 7To fa=sear 7 9 9E 39T &1 a99q
a—ﬁ'l%rq;:
(a) AandBonly/an_chf A 3T B

B and C only/&hdal B 37X C

(¢c) C and D only/shadd C HAR D
(d) D and E only/&da D 30X E
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The UGC has mandated a six-month module
syllabus for UG courses for all branches of
higher education with the objective:

TSt 3 S==r ram &r waft gmarew & fag

gaTaeh ohid o 0 Ush g W o ATSgol

UTSTehH ohT TaayT foar § et 299 &

A. to implement CBCS in the true sense/dt &t
=t T =t WE " ' Any A

B. to enhance knowledge, skills and attitude
towards the environment &+ ufer

AT, RIITA AT Mg ahr F=ET
C. to provide first-hand knowledge on various

local environmental aspects/fafarsr ==
gatavufiar el ehr wexer AT 9= i

D. to implement the order of Hon'ble Supreme
Court of India/9Ra o WA=

=TATAT oh 3TTEIT el STH] SHIAT
E. to protect the environment
QITATUT Rl HIRTUT ShIATI

Choose the correct answer from the options
given below :

“Hr=or faug 7o faeseal @ ¥ 9@E 39T &1 =A9AT
a—‘.’lﬁﬂq:

(a) AandBonly/aa_chf A 3T B

(b) B and C only/&hdd B 3R C

(c) CandDonly/aa_cl?'f C 3T D

(d) DandEonly/a-Tchl D 31T E

:

Ans, (c) : o4l U Iea Ger ¢ o fen o T
71 fafyy & foam &= fwn &t yoE e @
2l W € g g-dedivg, deideg & qed
i shfee e’ & 21 gl 3 ot 3w g
fr diefding sy foar g1 @i @@ ade
WiaR FH F FYEHA € qF T A B F
T Tk |

54

ﬂiébs#




Who among the following has the regulatory @

authority to grant recognition to open distance
education courses?

forenm I @ WA WS HwE
%ﬁm%wmﬁnﬁﬁmwﬁ
(a) IGNOU 3
(b) MHRD /9Hd §41eH fqehrd wared
(¢) UGC /fasfearer 3w smam

d) DEB /ST 3
QDA
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Match List I with List II
=it 1ot geit 119 gafea S @ M/
List 178G 1 List 178 11 AR [~ WV NG

A. Establishment of NAAC/ | I. 1969 N AG- VY A

T H e W wE

B. Establishment of NCTE/ | 111992 -\

A S — 'N;V\v A
-\ N

C. Establishment of AICTE/ | 1L 1995 g{)\-‘ /'

T arg ot 2§ @ T \‘d

D. Establishment of ICSSR/ | IV. 1987

3g W TH T AW &
T4t

Choose the correct answer from the options
given below:

Frar faw T fraed # & W SN SR

(@ A-ILB-NLC-IV,D-1 N

(b A-LLB-ILC-III,D-1V

(c) A-IILB-I,C-I,D-1V

(d) A-1V,B-II,C-1,D-1II




Hir=r fau 7 ITEivT Wt suTEUdes ufeu i ueEt o
IR S -

Hold THIHHUZ AGv9s ®9 J HEMisA & dgess
TJ949 3R AT & Safasr & g2+ St fafyrsasi &
gy 9 e AfEREl g saEEasit & &g @ Soue
3=a: forar =t gura *ar @ gifafas wiefa sra s
%m—wﬁﬁwamﬁ%mmﬁ%ﬁaﬁ

FagR 3R 3dia 9
fosqer fopan-fafer wnfae 2 eifue-um & guf 9 odis g=,
&L H GE AT H1 dHeor 9 fAsar & T AR ArgHEar
% AU H ff ARy @ TR 3R A & &= fed
ot sia:fpen & foaw 3 aeagef § ug F-Hueur & Awa #
7 faviy &9 ¥ wgayget )

2 F R guUR & I fafva sl ¥ fasa g @
frasi i fafqedi & amR € 3k 9 Sfew @ gur &
3 Ul & fAfga w@raf & @ror 3faa @01 9 @ =8
forar e o SyaTen A dgur SRl & g it i
FHIEAT3AT HI SHEIN H Sicdiied A1 fhar 92 ggarhad! &l
s2va wefi s s SR afg (7 3g) S s
& wam AR a2 fafet g sfrassi & SR 39 =ik 3=
TEUE A 93 i guEsii & Galfd S @ A% saaEen &l
A9 & fou s srfamfEt = gferfera =ik 3fa s @
3R FHEarsil & 39 deiw # gfaa g fefea s 8em 2w
§ SAEE w5 T 1% & L a1 2 HUUH & ¥
U Agal Ugd 3R sifoes Anfiss T & IR H oS
qénﬁrmaﬁaﬁmﬂwaﬂtémwﬂtﬁmaﬁam
gTdifer 39k fasg o faun afifteaai 21

3

Read the given passage and answer the questions
that follow:

Faceless assessment entails removing direct
interaction between income tax officials and tax payers
through features such as the random selection of
taxpayers and the removal of official's territorial
jurisdiction. The taxpayers' charter, which has statutory
sanction, i1s a list of guidelines for the department and
taxpayers which detail the rights and responsibilities of
both taxpayers and officials. They include honesty,
courteous and reasonable treatment and a fair and
impartial mechanism for appeals and review. The charter
also mandates provision of complete and accurate
information, collection of correct amounts of tax and
respect for privacy and maintenance of confidentiality.
These are 1mportant in any interaction between the
government and the citizens but are especially important
in matters related to tax collection.

Tax reformm measures have often failed in the
country for various reasons. The rules and regulations are
too many and complicated. Many reform measures were
not implemented properly because of vested interests.
The system often did not encourage free functioning of
officials and incentivise honesty on the part of taxpayers.
The new initiative aims to address these and other
entrenched problems with new methods and processes
and with the use of technologies like machine learning
and artificial intelligence. Tax officials will have to be
trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it.
Barely 1% of the population pays taxes in the country. A
better approach to taxation will bring more people into
the tax net. The new processess should be given a serious
and sincere push, though there are many odds against
them.




o

The charter is intended to ensure The new income taxpayer's charter reflects its
TRER-TH & TG e @ gty wQaa & T e e T R
h{dl %1 m '%:

(2) Strict collection Ofl'ax.m § (a) Territorial jurisdiction/ AR
(b) gg;;’;%e gx%y%m ;:'as;ﬁa - cﬁ){" (b) Legal character/faféd @&y
(¢) Direct interactive nature

(c) Fair settlement of appeals -~ _
il & = T &) TR . TS 1
(d) Maintaining public transparency (d) Randomisation of tax payment.

o el a1 e T @ A
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Attempt at tax reforms have failed because of
(a) Free regime of tax officials
. vl 3 o A g
(b) Hotch-potch implementation
A 474 7 § 3 ¢
(¢) Too many players in the field
50 4 ¥ 91 f7 o ¢

(d) Uneducated taxpayers/T3e g g

One of the charter objectives is to
WIHR-TF & 394 £

(a) Expose tax payers to the government

TR F HEA 3 TG

(b) Incentivise tax officials
& FREE 3 A &

(c) Protect tax Pa a%ers from invasion of
privacy/FEA & 3o & Ieed 4 F

(d) Safeguard the taxpayers from confidentiality
mechanisn/AEAEA & TMUEAT 77 § FEMI




The author of the passage suggests the

following reforms in income tax collection:
3MMThT WUFUT H G o T Teniyr & @ o
= gzima €

A. Removal of vested interests

B.

fafega w@raf =t ger=r

Training of officials to adopt the new
methods/ﬂ?

aTfEreRTRAT et 9idTiara aReaT

. Introduction of machine learning and

artificial intelligence/®9fi= 31ty @ H>w
dfeg (T 27T ) Rl 7T AT

. Compelling more and more _people to pay

taxes with tough measures/ﬂ@' IUTAT o \@TY
atftres safhal vt &t Wi o fag faar
h{AT

Choose the correct answer from the options
given below:

Hrer fau 7o faereat o 9 wE 39 94
(a) AandBonly/aa_q'FrAaﬁ'{ B
(b) BandDonly/aﬁFfBSﬁID
(¢) AandConly/‘Sh_cIt_*TASﬁT(C
(d) BandConly/an_cl?'T B 3T C




Thanks for Watching
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